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Analysis strategy

Event level:
Vpdmb-30 (600001, 600011, 600021 and 600031)

|Vr| <2 cm, -35<Vz< 25 cm, and | V€ - VPP| < 3 cm
Bad run rejected, bad run index in backup slides

Electron identification:

s —1.5<ns,<2.0
nHitsFit > 20

nHitsFit/nHitsPoss > 0.52 p <1.5 GeVlc
nHitsDedx > 15 |11 —1/p| <£0.025
dca < 0.75 cm p =15 GeVic

In| < 1.0 0.3<p/EL15

J/psi pT 03-1GeV/c 1-25GeV/c 2.5-4 GeV/c 4-6 GeV/c

Minimum electron 0.4 GeV/c 0.8 GeV/c

pT

0.6 GeV/c 0.6 GeV/c
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J/y elliptic flow
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e Limited non-flow contribution but with a slightly worse event-plane resolution

compared to TPC event-plane method
e What is the J/psi detector efficiency impact on the v2 results?
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Jy detector efficiency

* Efficiency obtain by divide the raw yield by “truth” spectrum which is from Raa analysis

10t J/psi decay electron tracking efficiency from
T ; embedding (“JpsiMB_200_20215101)
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J/y elliptic flow

Before efficiency correction
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* Very limited impact of efficiency on final v2 results




Event-plane method

Particle emission azimuthal angle measured with respect to the reaction plane

d 3N 1 d°N
d3 2z prdprdy

(1+ Z 2v,cosn( —¥,)])

for particle number distribution, v, = < (p,/pr)* — (p,/pr)* >

Estimation of the reaction plane :

w.sin(2¢:;
: > wicos(2e;
le —
0,5in(2¥,) = Y, = ) wsin(2¢) 2

Weights are optimized to make the reaction plane resolution the best
: transverse momentum in this analysis
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TPC event-plane reconstruction

Tracks for event plane reconstruction:

0.4 < pr <5GeVic e that can be paired in the mass

nHitskFit > 15 region of (2.2 - 3.8) has been removed
nHitsFit/nHitsPoss > 0.52 from event-plane reconstruction
dca <3
—-05<#59 <05
OO Ty Recentering:
35000 - * correct azimuthally non-uniform
300001 E TPC eﬁ|0|e.nc.y
= 7 e Corrected in in each run, and
o DO E centrality with vz > 0 and vz <0
§200005— i case respectively
15000 — — raw =
10000;— — recenter _i Shift:
5000( - 14 To remove higher order harmonics
-1 contribution. Up to 10th oder in the
OO 0.5 1 1.5 2 2.5 3

analysis
TPC event-plane W, (rad)
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Counts

TPC event-plane resolution

Using second order event plane to estimate event plane resolution

Two sub-event: 7 >0 and#y <0

Recenter are done in each run, centrality and vz > 0 and vz <0 case respectively
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* To cope with event plane resolution in large centrality bin, the histogram is
weighted by inverse event plane resolution and J/psi efficiency in each

centrality bin

* the counts are divided into 10 ¢—W bins, and each 2 bins symmetrical to 11/2

are combined into one
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J/psi yield in different ¢ — ¥ bins %
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¢ bin width correction

(i+1)A

[ A(l 4+ 2v,cos2(pp — WP)))d(¢p — P)
° (i+1)A

=A(A + Vz{ cos(2(¢p —V)d(2(¢p — YV)))

iA
= A(A + vysin(2(¢p — P)) |,(-iA+1)A )

= A(A + vy(sin(2(i + 1)A) — sin(2iA))) bin center
= A(A + v,2sinAcos((2i + 1)A)) /
= AA(1 + 2v2(sinA/A]cas(ﬁ + 1/2&)) Al + QV_*OS(Z@ —

sinA/A = 1.01664,A =0.1x

1.664% correction for the v2 results due to bin width
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Total TPC event-plane resolution
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Jy elliptic flow
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 The J/psi elliptic flow is consistent with O
e Consistent results between scalar-product method and TPC event-plane method
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Summary

* The final J/psi v2 is obtained by using scalar-product method and
event-plane method

e Both results are consistent with each other
e Sys. uncert. estimation is ongoing.
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